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— MHETYRE —
51 X9= 457
51 Xx8= 407
51 x7= 357
51 Xx6= 307
51 X5= 257
51 X4= 207

51x3= 157
51x2= 107
51x 1= 5[7

— DIETIRE —
23x9= 20[7?]
23x8= 18[7]
23x 7= 16[7]
23x 6= 13[7?]

23x5= 1 1[2]
23x4= 9q[7]
23x3= 67
23x2= 47
23x 1= 27

56

— DIETIRL —
56 X9 = 507
56 X 8= 447
56 X 7= 397
56 X 6= 337
56 X 5= 287
56 X 4= 227
56 X3= 167
56x2= 117
56X | = 5[?]

— D"IETYRE —

17x9= 152
17x8= 132
17x7=11[2]
17x6= 102
17x5= 8[2]
17x 4= 6[2
17x3= 5[7]
17x2= 3[7]
17x 1= 12

*******************

*******************

— MFETYZE —

16 x9=14[7]
16x8= 127
16 x7=11[7]
16 x6= 97
16 x5= 8[7]
l6x4= 6[7]
16x3= 47|
l6x2= 37
l6x 1= 17

54

— DHETIRN —
54 x9= 487
54X 8= 437
54x7= 377
54X 6= 327
54x5= 277
54X 4= 217
54x3= 167
54x2= 107

54% 1= 5[7

34

— DFETIRE —
34x9= 30[7]
34x8= 27[7]
34 x 7= 23[7]
34x6= 20[7]
34x5= 177
34 x 4= 13[?]
34x3= 10[?]
34x2= 67
34x 1= 37

— DIETYRL —
39x9= 35[7]
39x8= 31[?]
39x 7= 27[?]
39 x 6= 23[7?]
39x5= 19[?]
39x 4= 15[?]

39x3=11[7]
39x2= 7[7]
39x | = 37

*******************

— NIETYRE —

14x9=12[7
14x8=11[7]
14 x7= 9[7]
14 x 6= 87
14x5= 77
l4x 4= 5[7
14x3= 4[7
14x2= 27
14x 1= 107

— DHETYRE —
57x9=51[7
57 X 8= 45[7
57 x7= 39[7
57 X 6= 34[7
57 x 5= 28[7
57 X 4= 22[7
57x3= 177
57%x2=11[7]

57%x 1= 5[7

— DHETYRE —

19x9= 1702
I9x8= 152
19x7= 132
19x6= 112
19x5= q[7]
19x 4= 1707
19x3= 5[7
I9x2= 3[7
1g9x 1= 1[2

— DHETYRE —
62X 9= 55[7]
62x8= 49[7]
62x7= 43[7]
62x6= 37[7]
62x5= 31[7]
62X 4= 24[7]
62x3= 18[7?]
62x2=12[7]
62x | = 6[?]
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